

NAME: ISRAEL JIYA KOLO

MATRIC: 15/ENG05/012

DEPT: MECHATRONICS

COURSE: ENGI 381

$$\textcircled{1} \frac{d^2 y}{dx^2} - \frac{dy}{dx} - 2y = 8$$

$$\frac{d^2 y}{dx^2} - \frac{dy}{dx} - 2y = 0$$

$$m^2 - m - 2 = 0$$

$$m(m+1) - 2(m+1) = 0$$

$$m = \underline{\underline{2, -1}}$$

$$y = Ae^{-x} + Be^{2x}$$

$$y = c$$

$$\frac{dy}{dx} = 0$$

$$\frac{d^2 y}{dx^2} = 0$$

$$0 - 0 - 2c = 8$$

$$-2c = 8$$

$$c = -4 \text{ (particular integral)}$$

$$\therefore \underline{\underline{Ae^{-x} + Be^{2x} - 4}} \text{ (General Solution)}$$

$$\textcircled{8} \frac{d^2 y}{dx^2} - 6 \frac{dy}{dx} + 8y = 8e^{4x}$$

$$\frac{d^2 y}{dx^2} - 6 \frac{dy}{dx} + 8y = 0$$

$$m^2 - 6m + 8 = 0$$

$$m(m-2) - 4(m-2) = 0$$

$$m = 4, 2$$

$$y = Ae^{2x} + Be^{4x}$$

$$y = Cxe^{4x}$$

$$\frac{dy}{dx} = 4Cxe^{4x} + Ce^{4x}$$

$$\frac{d^2 y}{dx^2} = 16Cxe^{4x} + 4Ce^{4x} + 4Ce^{4x}$$

$$16Cxe^{4x} + 4Ce^{4x} + 4Ce^{4x} - 6(4Cxe^{4x} + Ce^{4x}) + 8(Cxe^{4x}) = 8e^{4x}$$

$$16Cxe^{4x} + 4Ce^{4x} + 4Ce^{4x} - 24Cxe^{4x} - 6Ce^{4x} + 8Cxe^{4x} = 8e^{4x}$$

$$16Cxe^{4x} - 24Cxe^{4x} + 8Cxe^{4x} + 4Ce^{4x} + 4Ce^{4x} - 6Ce^{4x} = 8e^{4x}$$

$$2Ce^{4x} = 8e^{4x}$$

$$2C = 8$$

$$C = 4$$

$$y = 4xe^{4x} \text{ (Particular integral)}$$

$$\therefore \text{General Solution} = \underline{\underline{Ae^{2x} + Be^{4x} + 4xe^{4x}}}$$

$$(7) \quad 3 \frac{d^2 y}{dx^2} - 2 \frac{dy}{dx} - y = 2x - 3$$

$$3m^2 - 2m - 1 = 0$$

$$3m(m-1) + 1(m+1) = 0$$

$$m = \underline{\underline{-\frac{1}{3}, 1}}$$

$$Ae^x + Be^{-\frac{1}{3}x}$$

$y = Cx + D$ (Particular integral)

$$\frac{dy}{dx} = C$$

$$\frac{d^2 y}{dx^2} = 0$$

$$-2C - Cx - D = 2x - 3$$

$$-C = 2$$

$$C = -2$$

$$-2C - D = -3$$

$$2C + D = 3$$

$$2(-2) + D = 3$$

$$-4 + D = 3$$

$$D = 7$$

$$\therefore y = Ae^x + \underline{\underline{Be^{-\frac{1}{3}x} - 2ex + 7}}$$

$$y = 2e^{-2x} \text{ (particular integral)}$$

$$y = e^{-2x} (C \cos x + D \sin x) + 2e^{-2x}$$

$$\text{at } x=0 \text{ and } y=1$$

$$1 = e^{-2(0)} [\cos(0) + D \sin(0)] + 2e^{-2(0)}$$

$$1 = 1 [C + 0] + 2$$

$$1 = C + 2$$

$$C = -1$$

$$\frac{dy}{dx} = [e^{-2x} (-C \sin x + D \cos x)] + [2e^{-2x} (C \cos x + D \sin x)] - 4e^{-2x}$$

$$\text{when } \frac{dy}{dx} = -2, x=0$$

$$-2 = [D] + [-2C] - 4$$

$$-2 = D - 2C - 4$$

$$D - 2C = 2$$

$$D = 2 + 2[-1]$$

$$D = 0$$

$$y = e^{-2x} (C \cos x + D \sin x) + 2e^{-2x}$$

$$y = e^{-2x} (-\cos x + 0 \sin x) + 2e^{-2x}$$

$$y = e^{-2x} (-\cos x + 2)$$

$$\therefore \text{Particular Solution } \Rightarrow y = \underline{\underline{e^{-2x} (2 - \cos x)}}$$

$$\textcircled{6} \frac{d^2 y}{dx^2} + 4 \frac{dy}{dx} + 5y = 2e^{-2x}, \quad x=0, y=1 \text{ and } \frac{dy}{dx} = -2$$

$$\frac{d^2 y}{dx^2} + 4 \frac{dy}{dx} + 5y = 0$$

$$m^2 + 4m + 5 = 0, \quad a=4, b=4, c=5$$

$$m = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$m = \frac{-4 \pm \sqrt{4^2 - 4(1)(5)}}{2(1)}$$

$$m = \frac{-4 \pm \sqrt{16 - 20}}{2}$$

$$m = \frac{-4 \pm \sqrt{-4}}{2}$$

$$m = \frac{-4 \pm j2}{2}$$

$$m = -2 \pm j$$

$$y = e^{-2x} (C \cos x + D \sin x) \text{ (particular integral)}$$

$$y = Ce^{-2x}$$

$$\frac{dy}{dx} = -2Ce^{-2x}$$

$$\frac{d^2 y}{dx^2} = 4Ce^{-2x}$$

$$4Ce^{-2x} + 4[-2Ce^{-2x}] + 5[Ce^{-2x}] = 2e^{-2x}$$

$$4Ce^{-2x} - 8Ce^{-2x} + 5Ce^{-2x} = 2e^{-2x}$$

$$4C - 8C + 5C = 2$$

$$C = 2$$

$$\textcircled{5} \frac{d^2 y}{dx^2} - 2 \frac{dy}{dx} + y = 4 \sin x$$

$$\frac{d^2 y}{dx^2} - 2 \frac{dy}{dx} + y = 0$$

$$m^2 - 2m + 1 = 0$$

$$m(m-1) - 1(m-1) = 0$$

$(m-1)$ twice

$$m = 1$$

$$y = e^x (A + Bx) \text{ (particular integral)}$$

$$y = C \cos x + D \sin x$$

$$\frac{dy}{dx} = -C \sin x + D \cos x$$

$$\frac{d^2 y}{dx^2} = -C \cos x - D \sin x$$

$$-C \cos x - D \sin x - 2[-C \sin x + D \cos x] + C \cos x + D \sin x = 4 \sin x$$

$$-C \cos x - D \sin x + 2C \sin x - 2D \cos x + C \cos x + D \sin x = 4 \sin x$$

$$-C \cos x - 2D \cos x + C \cos x - D \sin x + 2C \sin x + D \sin x = 4 \sin x$$

$$\cos x (-C - 2D + C) + \sin x (-D + 2C + D) = 4 \sin x$$

$$-C - 2D + C = 0$$

$$-2D = 0$$

$$D = 0$$

$$-D + 2C + D = 4$$

$$C = 2$$

$$y = 2 \cos x + D \sin x = 2 \cos x \text{ (particular integral)}$$

$$\text{General Solution} = e^x (A + Bx) + 2 \cos x$$

$$(4) \frac{d^2y}{dx^2} + 25y = 5x^2 + x$$

$$\frac{d^2y}{dx^2} + 25y = 0$$

$$m^2 + 25 = 0$$

$$m^2 = -25$$

$$m = \pm 5i$$

$$y = C \cos 5x + D \sin 5x$$

$$y = Cx^2 + Dx + E, \quad \frac{dy}{dx} = 2Cx + D, \quad \frac{d^2y}{dx^2} = 2C$$

$$2C + 25[Cx^2 + Dx + E] = 5x^2 + x$$

$$2C + 25Cx^2 + 25Dx + 25E = 5x^2 + x$$

$$25C = 5$$

$$C = \frac{1}{5}$$

$$25D = 1$$

$$D = \frac{1}{25}$$

$$2C + 25E = 0$$

$$2\left[\frac{1}{5}\right] + 25E = 0$$

$$\frac{2}{5} + 25E = 0$$

$$25E = -\frac{2}{5}$$

$$E = -\frac{2}{125}$$

$$y = \frac{1}{5}x^2 + \frac{1}{25}x - \frac{2}{125} \text{ (particular integral)}$$

$$\therefore \text{General Solution} = \underline{C \cos 5x + D \sin 5x + \frac{1}{5}x^2 + \frac{1}{25}x - \frac{2}{125}}$$

$$\textcircled{3} \frac{d^2 y}{dx^2} + 2 \frac{dy}{dx} + y = e^{-2x}$$

$$\frac{d^2 y}{dx^2} + 2 \frac{dy}{dx} + y = 0$$

$$m^2 + 2m + 1 = 0$$

$$m(m+1) + 1(m+1) = 0$$

$(m+1)$ twice

$$y = e^{-x} (A + Bx)$$

$$y = ce^{-2x}$$

$$\frac{dy}{dx} = -2ce^{-2x}$$

$$\frac{d^2 y}{dx^2} = 4ce^{-2x}$$

$$4ce^{-2x} + 2(-2ce^{-2x}) + ce^{-2x} = e^{-2x}$$

$$4ce^{-2x} - 4ce^{-2x} + ce^{-2x} = e^{-2x}$$

$$ce^{-2x} = e^{-2x}$$

$$c = 1$$

$$c = e^{-2x} \text{ (particular integral)}$$

$$\text{General Solution} = \underline{\underline{e^{-x} (A + Bx) + e^{-2x}}}$$

$$\textcircled{2} \frac{d^2 y}{dx^2} - 4y = 10e^{3x}$$

$$m^2 - 4 = 0$$

$$m^2 = 4$$

$$m = \pm 2$$

$$y = C \cosh 2x + D \sinh 2x$$

$$y = ce^{3x}$$

$$\frac{dy}{dx} = 3ce^{3x}$$

$$\frac{d^2 y}{dx^2} = 9ce^{3x}$$

$$9ce^{3x} - 4ce^{3x} = 10e^{3x}$$

$$5ce^{3x} = 10e^{3x}$$

Divide through by e^{3x}

$$5c = 10$$

$$c = 2$$

$$c = 2e^{3x} \text{ (particular integral)}$$

$$\therefore \underline{\underline{C \cosh 2x + D \sinh 2x + 2e^{3x}} \text{ (General Solution)}}$$